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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

14.

SECTION - A

Name the compound CH,-CH,-OH and identify its functional group. 1
Name the compounds responsible for the depletion of ozone layer. 1
Name the component of white light that deviates 1

(i) the least and (ii) the most while passing through a glass prism.

Give the scientific term for the increase in the amount of non- biodegradable substances 1
in the successive trophic levels of a food chain.

Account for the following : 2
(a) Noble gases are placed in a separate group.

(b)  All the elements of the same group have similar chemical properties.

A 2 cm high object is placed at a distance of 20 cm from a concave mirror. A real image 2
is formed at 40 cm from the mirror. Calculate the focal length of the mirror.

Compare the vegetative propagation in Bryophyllum and money plant. 2
How and why does the atomic size of elements vary as we go : 2
(a) From left to right along a period (b) down a group ?

(a) State two main causes of developing far-sightedness. 2

(b) How can this defect of vision be corrected ?

“Energy flow in a food chain is unidirectional.” Justify this statement. 2
Why does the sky looks blue on a clear sunny day ? 2
Name the products of combustion of coal and petroleum. How do they affect 2

environment ?

Name the female reproductive part of a flower. Which part of a flower develops into a 2
seed and a fruit ? Where are the male germ cell and female gamete produced in a
flower ?

State Modern periodic law. How,
(i) tendency to lose electron,

(ii) wvalency of the elements vary along the period from left to right ? Give reasons to
justify your answers.
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15.

16.

17.

18.

19.

20.

21.

22,

In a mono hybrid cross, pink coloured flowers are dominant over white coloured flowers.
If parent plants belong to pure breeding dominant trait and pure breeding recessive
trait. What will be the phenotype or morphological feature of F; generation ? If F,
plants are self fertilized, what would be the phenotypic ratio, or how many dominant
and recessive traits will be produced in the progeny ? Explain with an illustration.

A student is not able to see clearly the questions written on the black board placed at a
distance 5 m from him.

(a) Name the defect of vision he is suffering from.
(b) State two causes of this defect

(c)  With the help of a ray diagram show how this defect can be corrected using an
appropriate lens.

Suggest three contraceptive methods to control the size of human population. Mention
two factors that determine the size of population.

(a) Draw the structure of ethanoic acid.

(b)  Explain the formation of scum when hard water is treated with soap.

Bring out the evolutionary relationships between (a) the wings of bats and birds
(b) Compare the limbs of frog and lizard and categorize the above organs according
to their features.

(a) Define 1 dioptre power of lens.

(b) A 2cm long pin is placed at a distance of 16 cm from a convex lens of focal
length 12 cm. Find the position, size and nature of the image formed.

Define “artificial selection.” Comment on the purpose why farmers selected the
following vegetables to cultivate

(a) Cabbage (b)  Broccoli
() Cauliflower (d) Kohlrabi through artificial selection.

(a) Complete the following diagram

AIR

GLASS

(b) Define refractive index.

(c) If the refractive index of water for light going from air to water be 1.33, what
will be the refractive index of air for light going from water to air ?
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23. (a)

24.

25. (a)

(b)

Differentiate between esterification and saponification giving one example of
each.

Write any two advantages of detergents over soaps.
Why does carbon form compounds mainly by covatent bonding ?
Draw the structure of bromopentane. (C5H;;Br)
OR
What is vinegar ? Give its use.
Draw the structure of butanone (C,HgO)

Name two properties of carbon which led to the huge number of carbon
compounds we see around us.

Give a chemical test to distinguish between butter and cooking oil.

Why does carbon form compounds having low melting and boiling point ?

List two differences between real and virtual images.
State two characteristics of image formed by a convex mirror.
With the help of a diagram, define (i) pole, (ii) focal length of a concave mirror.

Convex mirror is used as a rear view mirror in vehicles. Give reason.

OR

Draw ray diagrams for the following and state the nature, size and position of
the image formed in each case

(i) For a concave mirror, object at 2F
(i) For a concave mirror, object between F and P
(iii) For a convex mirror, object between P and infinity

Write the mathematical expression for magnification produced by mirrors.
When do we say magnification produced is - 1 ?

Draw a neat diagram of Human-male reproductive system and label on it the
following parts :

(i) Vas deferens (ii) Seminal vesicle (iii) prostate gland (iv) testis
Mention the function of prostate and seminal vesicles.
Name the male hormone and write its function.

OR

Draw a neat diagram of longitudinal section of a flower showing the fertilization
of pollen on stigma and label on it the following parts :

(i) malegermcell (ii) female germ cell (iii) ovary (iv) pollen tube

“Fertilisation will not occur without pollination.” Justify this statement.
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SECTION-B

26. The budding in yeast is illustrated by the diagram :

__(@
@
A B c D

@ A (b) B (© C (d D

27. Following diagrams were drawn by four different students on having seen a prepared
slide of budding in yeast under a compound microscope.

() » ® (o)
[ ]
(A) (B) © (D)

The correctly drawn diagram (s) is/ are :

@ A b) A B ) B d C D

28. A student soaked 10 g of raisins in 50 mL of distilled water in beaker A and B each. She
kept beaker A at 25° C and beaker B at 50°C. After an hour the percentage of water
absorbed will be :

(a) same in both A and B (b) more in A than in B

(c) more in B than in A (d) exactly twice as much as in A

29. Two of the following four diagrams that illustrate budding are :

(@) TandII (b) IandIV () TandII (d) II'and IV
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30. The process represented in the diagram below is :

W88

formation of spores in amoeba

)
b) formation of bud taking place in amoeba

(
(c) identical gametes being formed in amoeba
(

d) formation of daughter cells in amoeba

31. Aqueous solutions of zinc sulphate and iron sulphate were separately taken in test
tubes I and II respectively by four students A, B, C and D. Few pieces of iron and zinc
were respectively dropped in the test tubes I and II. The observations made after two

hours were recorded in the form of the table as given below.

Observations | Metal | Solution |Colour change Deposit/
Residue
by of solution obtained
Silver grey
A Fe ZnSO, | turned green coating
Zn FeSO, no change no change
B Fe ZnSO, no change | black residue
Zn FeSO, | colour faded | grey coating
C Fe ZnSO, no change no change
turned
Zn FeSO, colourless black residue
D Fe ZnSO, no change grey residue
Zn FeSO, no change | black residue

The correct reporting has been made by the student.

@ A

32. A few drops of ethanoic acid were added to solid sodium carbonate. The observation

made was that :

(b) B

(©)

(a) A hissing sound was produced

(
(c
(
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b) Brown fumes evolved
)

Brisk effervescence occurred

d) A pungent smelling gas evolved.

C

(d)

D

1

1



33.

34.

35.

36.

A student added dilute Acetic acid to an unknown white solid (A) kept in a test tube.
It was observed that a colourless gas (B) was evolved. The gas was passed through lime
water which turned milky. The solid (A) and the gas (B) could be

(a) Solid A is Pb (NOj), and the gas B is NO,
(b) Solid A is FeSO, 7H,O and the gas B is SO,
(c) Solid A is NaHCO; and the gas B is CO,

(

d) Solid A is CH;COONa and the gas B is O,

Aluminium sulphate and copper sulphate solutions were taken in two test tubes I and
II, respectively. A few pieces of iron filings were then added to both the solutions. The
four students A, B, C and D recorded their observations in the form of a table as given
below :

Student Al,(SOy); Solution (I) Copper Sulphate Solution (II)

A |Colourless solution changes to  |Blue colour of the solution is

light green retained

B Colour of the colourless solution |Blue colour of the solution

does not change changes to green

C  |Colourless solution changes to  [Blue colour of the solution

light Blue changes to green

D Colour of the colourless solution |Blue colour of the solution

remains unchanged fades away

The correct set of observations have been recorded by student

@ A (b) B © C d D

Dilute acetic acid was added to the four test tubes containing the following chemicals:
(i) KOH (i) NaHCO, (iii) K,CO; (iv) NaCl

Brisk effervescence was observed in test tubes :

(@) iandii (b) 1iiand iii (c) iandiv (d) iiandiv
Out of the following the best way to do the experiment on finding the ‘f* of a concave
mirror by obtaining image of a distant is to :

(a) Hold the mirror in hand and keep the screen in a stand kept behind the mirror

(b) Hold the mirror in a stand and hold the screen in hand with the screen infront of
the mirror

() Keep both the mirror and the screen in suitable stand with the screen put infront
of the mirror

(d) Keep both the mirror and the screen in suitable stand with screen put behind
the mirror
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37. A sharp image of a distant object is obtained on a screen by using a convex lens. In order
to determine the focal length of the lens, you need to measure the distance between the

(a) lens and the object
(b) lens and the screen
(c) object and the screen

(d) lens and the screen and also object and the screen

38. In an experiment to trace the path of a ray of light passing through a rectangular glass
slab the measurement of angles of incidence i, refraction r and emergence e is shown in
diagram. The diagram which correctly depicts the angles i, e and r is

:
@ A (b) B (© C (d) D

39. In an experiment to trace the path of a ray of light passing through a rectangular glass
slab four students tabulated their observations as given below :

S.No. |Angle of |Angle of [Angle of S. No. [Angle of [Angle of |Angle of
incidence |refraction{emergence incidence |refraction|emergence

30 18 32 1 30 15 38

A 2 45 28 43 B 2 45 20 53
3 60 35 60 3 60 28 67

30 10 31 1 30 28 28

C 2 45 15 44 D 2 45 40 40
3 60 22 60 3 60 56 56

The student most likely to have done the experiment properly is :
@ A (b) B (© C (d D
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40.

41.

In the glass slab experiment shown below four students A, B, C and D did the
following :

p,®

1

P
7

Q Eye
(A) kept the eyes far from the glass slab while placing both the pins P; and P,

(B) Kept the eyes close to the glass slab while placing both the pins Py and P,

(C) Kept the eyes close to the glass slab while placing pin P; and far from the slab
while placing pin P,

(D) Kept the eyes far from the glass slab while placing pin P; and close to the slab
while placing pin P,

The correct procedure is that of student :

@ A (b) B (© ¢C (d D

While performing an experiment with raisins a student recorded the following data.
Volume of water taken in the beaker = 50mL

Weight of raisins before soaking = 20g,

Weight of raisins after soaking = 30g.,

Volume of water left in the beaker after the experiment = 40mL.

The percentage of water absorbed by the raisins is :

—(50g§2£“L x 100 (b) —(504_04:]{“' x 100
30g 20g
-00o0-
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10.

11.

12.

13.

14.

Tus - A
AfiTeh CH,-CH,-OH 1 7 ST qe 36 Jehriicsh 98 o1 T8= ahifolg |

S TG o 3191 o foTu STt Aifient o 99 Sifera |

YId YRS & 3T99d ol A <ifeT <1 o i & fisq 9 8o TToia @9 | fomfeaa 2 g,
() HIGHA (i) T 3HfH,

T 3R F@el T TR qroor il § sreraf=ientia gereif @t 7 § gig o fog st
g™ ST |

frfafea & fag wRu Saa :
(a) T TG I TH A TR H @ T R |
(b) TH TYE % Gt el o THEE IO THH B ¥ |

Teh 2 cm 39 i 9% T Fac U0 F 20 cm T R W T ¢ | Tk ardtaes gfdfsis gqu §
40 co T T W AT T | UV HT HRE G A IR HifST |

SR qe A 9IeY § whifaeh Ja8q i garl hifeid |

EERGASICRSE
(a) S | A SR TH A o
(b) T T H < I, T A H1 IHIY] WES K q 0 gRafdd g § 2

(a) T - o faesfad B9 o < &I FRON 1 9 Hif |
(b) T o1 I q9 HY Fenfed fwan s gedr § 2

“' Tk 3R Te | Sl ol JaTg Uehfa¥ieh (SI9dn U & faun #) &1 ¥'' 589 &er o1 3fd
HRO FqAH |

=3 AT el i TR Bl § 2

FII AU TTH & Te & S| T A SIS | I TR hl Hd FHIfad il § 2

T o9 o HIGT S 317 I A SITSIC | Teh T 1 ShiA 1 317 Teh oISl a1 Tk el | foehfaa
BT €2 Tk I H R S ShISIhT qe0T ST JTHF el W SIed Bl & 2

sy otmad fom fafaw) aw@l =t

()  ToToRH AN i Ygfa qen

(ii) GASTohdl, T 3TEd | o8 9 < AR WM W g yer ufafda et €2 o199 3wl
3Ifaq FIaa ok HROT I |
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15.

16.

17.

18.

19.

20.

21.

22.

T THGR ho H, T[eret T Io0 vad TiF godi | g €1 9fE S ey g IS
TTel! TorIoeh e Yg TSI ST HTell foriveh ¥ Feaif-<d 21, qel F, S o THAGT A1 SAehfdsh
&I 1 BT 2 AfS F WIS oA B, < HHCIaTvi STIATd SR e A Satd H o gurel qe
STyl forereeh IcaTfed BT | Weh IQTEX0T <k 1% FHSA GU AU ShiToT |

e foreneff 359 5 m F g0 W W T @ Yee W forg gl o6 wE w9 9 <@ | 99 T7
gl

(a) TS fomd a7 difed g, =1 T G
(b) T TY % S RN 1 I HIfTT |

(c) U TR0 g &t TREdl ¥ Yefdfd HIfSu 5 I8 9 Uk 3fud o9 &l YA Hh
Henfera foren < gemar €|

qe SHEEAT % 3R & s & fau §F 7y e fafat fafee ) S wwent s ==t
Hifere it for S & 3R i fAuifia a1

(a) TUIATEH 3T i L RMET hifeg |
(b) THH 4 I, & FH3R ST TIgA & T Affehfaa feran i €, aoie sntfema)

(37) TMIEE qen ufEsH % UE % W faehie e i Ui Hifse, () Hesh au
Toushett & TIGT 1 T HITSTT T SRS 7T hl STk AT o SR T MR hiftad |

(a) 1 TEMS ST i &9 1 GRYTH ST |
(b) Tk 2 cm THIE i STADH 12 cm Bk G o6 Teh I 0F ¥ 16 cm &l T W
@l §1 o grI o yfafeie o1 T, SR a1 Yehid 1 shiferg |

‘T o’ gl e | SIfuma @t Smen sifae, F@ foeam fefafeaa aaeafar st
Wl % foau M owor o1 = N

(a) Tamm (b) Siepredt (wr@)  (c) herisdt (d) whreerst

(a) Fretfafaa s %1 g0 #ifw

(b) AUk hi TRV ST |
(c) 3fg STt o1 STUadHish, a1 | it | ST arel YehreT o faw 1.33 9, @ 9t 9 9 § 5
JTCT YehT¥ o foTT o ol STqarIeh oI BT 2
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23. (a)
(b)
(c)
(d)

(a)
(b)
(c)

(d)
(d)

24. (a)

(b)

(c)

(d)

(a)

(b)

25. (a)

(b)
(c)

TR T WG] o s, Yeish ol Ueh STV od g, fase #ifew )
AT St STUETT STUHTSThT o Tl o ol whi fafaw |
e F TE Y W Fegars oTeEl grR1 AfTent i a1 § 2
SHIAA (CgHy; Br) ot HT=A1 STRfEd Shifse |
a"
TRt =1 € 2 39 3 <t |
I (C,HgO) i HTEAT SNEd whifsTe |

e o T IO o A9 S ST R e iRl i aga SISt WA, g9 3T ARl 3R
Yhfd | <@ €, 1wt s )

TR q1 ek a1 o &g faded & fau us qamafe whem s
hTe T TTericr 9o = e o AiiTeh &= o & 2

Sreferes qen st fafsisi & e <1 s fafau |

Teh STcl 401 gRT oM T3 idfsis & &1 Stfcierol i oo e |

3@ T TRl 9§ SFedal Y01 h

() gad: (i) TRrRH gl kI gRwia i

A | U 9T Uk Y H I YU 1 FANT TR ST € 1 R S|
ar

e T Jertol o foe fopor @ EifeT qen s gfafdel i Jehid, SR ae
feafq =1 quE =S |

() U Edd U & AU, %] 2F W
(i) TH STodd YU & faC , Sg F a1 P& &= H |
(ili) T Iq1 TYUN ok foQ, &g P qe 7d & o= H |

0 gry Icfed e % fau o Sister fafau | 319 e wed § fo Sanfed
amaE -1 €2

YHe R 11 97 o1 Toh T3 W 3TREd shifew qen 39 R f=fafad i ol 2Afea
HIFST :

() YERAIGeR (i)  EhrA gieeh (i) WERZA™  (v) U
Jieee a1 Y1 Gfeahtsll o Y @i ==l hifad |
T M 1 A SIFSTT a0 g8 e fafgu |

ar
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(a) Y1 ! Teql H1e H W3 NG WA H1 afderryr | Fo=m yeiia #d gu smfed
iy qen 39 R Frefafaa i @t sifera sifse -
() TS IR (i) QT S hIfTeR
(i) 3Ter™M™ (iv) T

(b) “*f7o=r formn Ty =1 &1 Wehdl'' 9 e ohl IR0 o H1e HHLARY |

Qe -d
26. I | qpor fohd ST g <9I 711 © 2 1
_@
A B C D
(a) A (b) B @ C d D

27. TrAfafea sma =R fafy= faenfial g @ ° gpe of 916 T 6 @Es & T 63 1
Yeueeft # @t RfEd &t TE )

O 808

e fiad emE B/ -
@) A b) A, B c) B d CD

28. T faenedi 7 10 g fRaftii =61 50 mL 3Tgd St | 1 sk A 791 B Ucdeh | <o | SH skt 1
A %1 25" C qe =fehd B 1 50°C W Tl | Teh = 91 STaeifd Sfel sht gfawraar 2t -

(a) T AT BH HHH (b) BRI oT9aN A H fyes
(c) A TN B ¥ Afeh (d) BH StH-3lh A AT A I 370aq
29. frAfafEd ar s § ¥ & 9 < Yo i UM € - 1

(a) 1TAII (b) IdeMIV (c) 1T d) Haemv
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30.

31.

= fea T e W fEld WA ©

W88
a)  3THYeN T SISOl o1 o=
b)  3THiel H HHel 1 A

c)  3fHten | A= FrHehi 1 |
(d)  sTten H Hafd wifrertsti s o= |

—~

fSish Fethe T 3TRRA Fethe o Sioitd foerad georeh T@Eferd [ aem 11§ saw: 9r foenfes
A, B, C 1 D gNI e 11 3R e S & $© Iohe ShA¥: WAl [ a1 11 Slel T |
T T A1 &IV ! Ueh dIferehl o &9 H Sran + fean €, sifufafea faean o 7

J&T0T R g | fooem | foemm s |FHem/eree uw
RIECRE|
A Fe | ZnSOs | w3wmis | @ R faom
Zn FeSO, | o uftad™ 78 | #FE uitad= &
B Fe | ZnSO, | % ufted= & | et sremm
Zn | FeSO, |fmmimdiems| R faom
C Fe ZnSO, | %K UfEdd & | o1 afady T8
Zn | FeSO, | tRmASME | e savm
D Fe | 2050, | oF qiada & | 4R 3femm
Zn | FeSOs | % ufted & | e sremm
fore foreneft R0 wdt s tfyera w&qa foran o B2
(@ A (b) B (@ C (d D

32. TIFTEH T I FD o S WIEAH Hrei-e R et T | Feqor 3 R 9= = o
(a) TUH FHHR HI LA S0 Bt §

(b) T ¥ eherar 21
(©)
(
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33.

34.

35.

36.

T fomnefl 7 a7 WHifew sval waret # fordl T T A9 ¥9d 39 (A) R STl 36 I8
Yfera foran T wer TEA f9 (B) fekedt | 719 0t 91 o O § | o T 9 9w e @
T | 3 (A) A1 9 (B) B0

(a) BHA Pb (NO,), 8 a2 T4 B NO, 7|
(b) 2EA FeSO, 7H,0 8 TN HH B SO, 8|
(c) 3™ A NaHCO, g a1 ¥ B CO,?|
(d) SEA CH,COONa T q B 0,7

TG Hethe a1 iR Howhe faeradl ol Q1 qrertadl [ 99 119 s foren @ | de @
% P TS SHI Tl 3 Sl T | =R femnfefEi A, B, C q€1 D A 319 HeTll ehi ek drferehl
o &9 H St A fean g, stfufafed faman

foremeft Al,(SOy); faera (D I Hethe faerad (1)
A | LA oo aRtafda 3 S ek | foer w1 fren T stafafda
wH @A
B | v foerm o1 & uftafida & | faerem o6 Hien T & H uftafda
B 2| B S 2
C | I foerem wRafda 3 8, sek | faerem o en @1 &t § witdfda
et § EESInES
D T faeem &1 T aRafda & | faerem o1 e 31 wient 8 S
B gl
fora faemefi g1 W&t Saror srfufafen foram T €2
@ A (b) B @ C d D

g UHifes o7 =R wEAfeal # o fFefatea w@mmE:

(i) KOH (i) NaHCO; (iii) K,CO, (iv) NaCl ford 73 8, <ren w1 fo waafadi § @
gegeree faam < ?

(a) ideMii (b) i A iii () ideMiv (d) i dAiv
T Y K] 1 fdfeisl YT ek el STaael gUUT i Wiehd g * f 1 L o FART 6l
F & fore gafaw fafy frefafed § 9 9 @ 22

(a) U I T T THSHL AT TS h Toh -6 T YU o 418 @ AL |

(b) U I Wre W A W< Sl T H ke YU o HHAA @ |

(c) U den RS T hI UG Trel W AR WE hl T4 o WA T |

(d) <O qAT WS AT DT ST el W TR W hl TUU & T T A

)
)

086/X/SA2/36/A1 15



37. U G0 %] 1 TR Yfdfoia Teh STl ¥ o TN g Ueh OIS O UG fofall 711 | o9 ol Wik
Tl w1 FreRw & 3 o st frefafaa # | oo s & g &1 A sTawe § 2

(a) TIE qAq T (b) TE qA WS
(c) & q W (d) < T T SR T A WS F oA off |

38. Ueh TEAHR shid o el H ¥ Bkt Fieher arell YTl ! Weh fohtor w1 gt MfEd & o
Teh YT T 3T hI0T i, STTe <hIv r 9T FHIAH 10T e <1 HIYA SR § Sefyid foran T 21
g 3TN S ST H DIV i, e AAT 1 T T AT © ¢

@ A (b) B (© ¢C (d D

39. T ISR hid I el H U 8ot Tehet aTeil Ykl i Teh TRL0T 1 99 STREd i
Toh 94 & =R foenfoi=i gra Geror e < 8 arferen § fed 1 €

HH T | AT ey |frias o HH G [qd [eTvadd [T
Eau R0 Equ Eaui
1 30 18 32 1 30 15 38
A 2 45 28 43 B 2 45 20 53
3 60 35 60 3 60 28 67
1 30 10 31 1 30 28 28
C 2 45 15 44 D 2 45 40 40
3 60 22 60 3 60 56 56

forg Teraneft 3 w2 <Al o feres Serur 9 foman €2
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086/X/SA2/36/A1 16



40.

41.

i o TAe & g4 | 5 for e wefdia foman wn €, =R famnffai A, B, C qen D ¥ f=fafead
fafer =i STaAmEn

P, ®
p,®

Py
P
QEye
(A) I AfHHT P, T P, 1 G T STl Rl i ok TS F BT fToRe 1@ |
(B) Sl ST P, qef P, 1 T WA 1@l o1 e o WId o 1o ehe @ |

(C) ST P, TG T 3Gl I ia % T % HIEN (o T STAA P, I T
Y WIE | HIE QR W@

(D) TR P, 1 TR T 3TT@T 1 i % Wi ¥ FIH G AT AR P, 1 T A
Wi o HIH fTehe @ |

form formeft 7 @@t fafy =61 e7ommRN 2
(@ A (b)y B () C (d D

Torarfietl o T Wk 9T o freare o 9w ek faeneff 7 fe=fafaa stiser sifufafaa feani

e H fow ST o1 sTrIaA =50 mL

ECIERC IR ENIE NI =20g

M % o1e fRafen s wR =30g.

AN o 91 SR H UY ST Bl SAFA = 40 mL

ferarfarsti gr sterifoa et <t wfaerdar € -

(a) —(50;§2£“L x 100 p 0 s0)m ;O‘::E M 100
30-20 30—20

© ( = g) 8 % 100 (d) ( = g) 8 % 100

-00o0-
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